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m3 18 2, 565 46, 170
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THEX Sy - T - R - A5 PSR 4 TG B B G R AT G| (GRS
BIHIA-N" = T,
R7 18.935~19. 135kp
= 1 3,099, 615
BIEIA=N" =14 TemPL F —& BZEd 0 o ©
B BET ATV HT20FHECE K A
& [
m2 1, 000 2,919 2,919, 000
socIE ( rE BI A1) TA77 bk (EIHI)
& [
m3 50 834.3 41,715
SISy TAT 7V bk
m3 50 2,778 138, 900
BIHIA-N" = T
R7 15.385~15. 585kp
= 1 3, 126, 400
BIEIA=N" =14 TemPL F —& BZEd 0 o ©
B BET ATV HT20FHECE KA A
& [
m2 1, 000 2,919 2,919, 000
socIE ( E BIH1) TA77 Wbk (EIHI)
& [
m3 50 1,370 68, 500
SISy TAT 7V bk
m3 50 2,778 138, 900
it 1
= 1 2, 449, 809
£
= 1 66, 060
el Ty LFELIS OB /A (
)
m3 60 1,101 66, 060
TAT7 V%S T
HLE LS
= 1 412, 722
FJE A (s - BT E6) FAIT9v477 RC-40 1 E 0 E 300
mm
m2 54 1,139 61, 506
- s (3 - R E) RIPEFRIEA M40 {1 0 & 250
mm
m2 54 1, 654 89, 316
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THX Sy - THE - FER - Bl PSR 4 TG B B G R AT G| T2 (A
8 (H5E - BIFE) &F (2. 300 2. 40t/m3KT) @
FEAHLRIET 22,20 &H4EE 50mm)
LoAmAGH (20 S Lo E
5 m2 54 2,379 128, 466
e (H3E - BIFE) &KF (2. 300 2. 40t/m3KT) ®
BORLPET A2V HT20FHFRAE A A G
J2 50mm 1. 4mARdE (U8 0 7
#) m2 54 2,471 133, 434
7 ny )AL T
MBS
= 1 228, 637
i i (HRiE ) FAIT9vTy RC-40 RV JE 150
mm
m2 31 900. 4 27,912
AV h=uyky )" 77wy sE FEWE S B E 3G S JE8em
W (yvay ) AR 20mm 100
2 i
m2 31 6,475 200, 725
7 ny )AL T
I ffi 3R Al
= 1 30, 124
i i (HRiE ) FAIT9vTy RC-40 RV JE 150
mm
m2 3 900. 4 2,701
- s (RiE) A (K FE) OFETAT VL E
W25 ff FYJE 60mm
m2 3 2, 666 7,998
AV h=uyky )" 77wy isE FEWE S B E3 A S JE8em
W (yvay ) AR 20mm 100
2 i
m2 3 6,475 19, 425
LN
= 1 428, 602
7 VERALIE Lb—20-1200
m 38 11,279 428, 602
SE K vy T
= 1 28, 670
7" ViR AME K Bt
T 2 14, 335 28, 670
5 1E Al T
= 1 71,712
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THEX Sy - T - R - A5 PSR 4 TG B B G R AT & # R (GBS
HRPE (REIKT) B LA M 0.8m +HELA
m 27 2, 656 71,712
Bk T
= 1 1, 030, 315
THE I PR T R 10m
H 2 79, 772 159, 544
TH % BB kT i PR U 8 AT S
= 1 870, 771
ET
= 1 152, 967
AVh=nyky )" 77wy s 100m2A %5
m2 65 869. 1 56, 491
HRPE (REIKT) B LA & 0.8m +HEA
m 23 1,332 30, 636
av)) - M IE Y BUE L MEATHEEY) B L
m3 5 9, 596 47, 980
PHaukiil 2y -k (TR
m3 5 1,435 7,175
AL Gy vy -k (TR
m3 5 2,137 10, 685
TR L
= 1 22, 987, 500
/N T
= 1 22, 987, 500
o kAT B ££101.6 HEE 4.4m 5
L E
#% 300 76, 625 22, 987, 500
X R
= 1 857, 500
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THEX Sy - T - R - A5 PSR 4 TG B B G R AT & G| (GRS
X R 1
= 1 857, 500
A AV A R A AV KR SEAR 15em IR
m 2, 500 161. 4 403, 500
A AV A R A AV KM SRR 15em INEA
m 2, 500 181.6 454, 000
Bk T
= 1 13, 245, 000
B AT R S R T
= 1 13, 245, 000
AR
m2 2, 500 1,406 3,515, 000
R - 7ub7) =K IR DA AV b TR
S EFE4AnAm OF -V 1E
m2 2, 500 1,311 3, 277, 500
R FEMME7 VR IR SR P B
m2 2, 500 1,290 3, 225, 000
L FEMmME7 VR IE SR BB At
m2 2, 500 1,291 3, 227, 500
EEMRE T
= 1 8, 538, 600
R
= 1 8, 538, 600
[ ES Rk AT
#% 300 20, 630 6, 189, 000
[ ES SR
#% 300 7,832 2, 349, 600
[fGan
= 1 1, 988, 400
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THEX Sy - T - R - A5 H TG B B G R AT & (3l R (GBS
RIEE T
= 1 1, 988, 400
RFE AR B
AH 100 19, 884 1, 988, 400
B T HE
= 1 77, 562, 355
BT S
= 1 8, 467, 661
B SGilTE:
= 1 818, 733
T
= 1 768, 432
TR A Y
= 1 768, 432
HTE
= 1 50, 301
B B HE R FEART IR Heffi8 1. 75N
= 1 50, 301
MR R (B L)
= 1 7, 648, 928
Wi
= 1 86, 030, 016
BTk Xegiiv oy
= 1 35, 131, 950
R 5]
= 1 121, 161, 966
— R B E
= 1 20, 028, 034
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THEX Sy - T - R - A5 PSR 4 TG B B G R AT & G| R (GBS
T HAlik
= 1 141, 190, 000
THE B 2 %8
= 1 14, 119, 000
TG
= 1 155, 309, 000
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